

**City of Arcadia**  
**Multi-Family Rates**  
**Effective 7/1/2025**

Required: Customers must have trash, recycling and organics service.  
 Example at Stab service level: (1) 3 Yard Trash Bin 1x/wk \$158.72 + (1) 3 Yard Recycle Bin 1x/wk \$67.51 + (1) Organics Cart 1x/wk \$18.27 + AB939 for 3 units \$0.90 = \$ 244.50

<b>Multi-Family Trash</b>						
<b>STAB Service</b>	<b>Frequency of Pickup Per Week</b>					
<b>Quantity - Size</b>	<b>1</b>	<b>2</b>	<b>3</b>	<b>4</b>	<b>5</b>	<b>6</b>
1 - 1.5 Yard	\$ 133.22	\$ 266.45	\$ 399.67	\$ 574.30	\$ 666.08	\$ 799.31
2 - 1.5 Yard	\$ 242.22	\$ 484.44	\$ 726.62	\$ 968.79	\$ 1,211.06	\$ 1,453.25
3 - 1.5 Yard	\$ 363.32	\$ 726.63	\$ 1,089.97	\$ 1,453.28	\$ 1,816.59	\$ 2,179.94
4 - 1.5 Yard	\$ 484.47	\$ 968.89	\$ 1,453.31	\$ 1,937.77	\$ 2,422.24	\$ 2,906.65
5 - 1.5 Yard	\$ 605.55	\$ 1,211.10	\$ 1,816.64	\$ 2,422.25	\$ 3,027.79	\$ 3,633.36
1 - 3 Yard	\$ 158.72	\$ 294.72	\$ 476.11	\$ 634.82	\$ 793.58	\$ 952.26
2 - 3 Yard	\$ 283.38	\$ 589.49	\$ 850.12	\$ 1,133.46	\$ 1,416.85	\$ 1,700.21
3 - 3 Yard	\$ 408.13	\$ 884.19	\$ 1,224.29	\$ 1,632.38	\$ 2,040.49	\$ 2,448.61
4 - 3 Yard	\$ 532.80	\$ 1,178.88	\$ 1,598.34	\$ 2,131.10	\$ 2,663.89	\$ 3,002.64
5 - 3 Yard	\$ 657.53	\$ 1,473.60	\$ 1,972.48	\$ 2,629.93	\$ 3,287.45	\$ 3,944.88
1 - 6 Yard	\$ 297.45	\$ 594.89	\$ 892.31	\$ 1,189.74	\$ 1,487.18	\$ 1,784.64
3- Yard Split Bin Trash & Organics	\$ 315.23	\$ 603.69	N/A	N/A	N/A	N/A

<b>Multi-Family Recycling</b>						
<b>STAB Service</b>	<b>Frequency of Pickup Per Week</b>					
<b>Quantity - Size</b>	<b>1</b>	<b>2</b>	<b>3</b>	<b>4</b>	<b>5</b>	<b>6</b>
1 - 96gal	\$ 33.87	\$ 67.76	\$ 101.64	\$ 135.56	\$ 169.42	\$ 203.31
1 - 1.5 Yard	\$ 50.83	\$ 101.64	\$ 152.49	\$ 203.31	\$ 254.13	\$ 304.95
2 - 1.5 Yard	\$ 101.64	\$ 203.31	\$ 304.95	\$ 406.62	\$ 508.25	\$ 609.93
3 - 1.5 Yard	\$ 152.49	\$ 304.95	\$ 457.44	\$ 609.93	\$ 762.41	\$ 914.87
4 - 1.5 Yard	\$ 203.31	\$ 406.62	\$ 609.93	\$ 813.22	\$ 1,016.51	\$ 1,219.81
5 - 1.5 Yard	\$ 254.13	\$ 508.25	\$ 762.41	\$ 1,016.51	\$ 1,270.65	\$ 1,524.77
1 - 3 Yard	\$ 67.51	\$ 134.98	\$ 202.50	\$ 270.01	\$ 337.47	\$ 404.97
2 - 3 Yard	\$ 134.98	\$ 270.01	\$ 404.97	\$ 539.98	\$ 674.97	\$ 809.97
3 - 3 Yard	\$ 202.50	\$ 404.97	\$ 607.48	\$ 809.97	\$ 1,012.44	\$ 1,214.94
4 - 3 Yard	\$ 270.01	\$ 539.98	\$ 809.97	\$ 1,079.95	\$ 1,349.94	\$ 1,619.92
5 - 3 Yard	\$ 337.47	\$ 674.97	\$ 1,012.44	\$ 1,349.94	\$ 1,687.42	\$ 2,024.91

<b>Multi-Family Split Bin - Trash/Recycling</b>						
<b>STAB Service</b>	<b>Frequency of Pickup Per Week</b>					
<b>Quantity - Size</b>	<b>1</b>	<b>2</b>	<b>3</b>	<b>4</b>	<b>5</b>	<b>6</b>
1 - 2 Yard	\$ 174.23	\$ 348.42	\$ 522.65	\$ 738.26	\$ 871.04	\$ 1,045.23
2 - 2 Yard	\$ 324.19	\$ 648.40	\$ 972.56	\$ 1,296.71	\$ 1,620.95	\$ 1,945.15
3 - 2 Yard	\$ 486.28	\$ 972.57	\$ 1,458.87	\$ 1,945.18	\$ 2,431.46	\$ 2,917.78
4 - 2 Yard	\$ 648.42	\$ 1,296.82	\$ 1,945.20	\$ 2,593.60	\$ 3,242.04	\$ 3,890.42
5 - 2 Yard	\$ 810.49	\$ 1,621.00	\$ 2,431.50	\$ 3,242.05	\$ 4,052.55	\$ 4,863.07
1 - 3 Yard	\$ 184.06	\$ 368.09	\$ 552.16	\$ 777.61	\$ 920.23	\$ 1,104.25
2 - 3 Yard	\$ 343.86	\$ 687.74	\$ 1,031.59	\$ 1,375.41	\$ 1,719.31	\$ 2,063.17
3 - 3 Yard	\$ 515.80	\$ 1,031.60	\$ 1,547.41	\$ 2,063.20	\$ 2,578.99	\$ 3,094.83
4 - 3 Yard	\$ 687.76	\$ 1,375.50	\$ 2,063.23	\$ 2,750.99	\$ 3,438.75	\$ 4,126.45
5 - 3 Yard	\$ 859.67	\$ 1,719.35	\$ 2,579.04	\$ 3,438.76	\$ 4,298.45	\$ 5,158.13
1 - 6 Yard	\$ 226.23	\$ 429.71	\$ 678.61	\$ 904.83	\$ 1,131.05	\$ 1,357.24
2 - 6 Yard	\$ 418.38	\$ 859.49	\$ 1,255.10	\$ 1,673.43	\$ 2,091.82	\$ 2,510.16
3 - 6 Yard	\$ 610.65	\$ 1,289.18	\$ 1,831.75	\$ 2,442.35	\$ 3,052.94	\$ 3,663.55
4 - 6 Yard	\$ 802.80	\$ 1,718.85	\$ 2,408.29	\$ 3,211.05	\$ 4,013.83	\$ 4,622.57
5 - 6 Yard	\$ 995.00	\$ 2,148.57	\$ 2,984.93	\$ 3,979.87	\$ 4,974.86	\$ 5,969.77

<b>AB939 Fee, per unit, per month, in additional to the above Trash or Split Bin Rates</b>	\$ 0.30
--	---------

<b>Multi-Family Organics Cart - STAB</b>	
1 - 96gal, 1x/wk	\$ 18.27
2 - 96gal, 1x/wk	\$ 36.51
3 - 96gal, 1x/wk	\$ 54.78
4 - 96gal, 1x/wk	\$ 73.06
5 - 96gal, 1x/wk	\$ 91.31

Required: Customers must have trash, recycling and organics service.  
 Example at Dismount service level: (1) 3 Yard Trash Bin 1x/wk \$179.01 + (1) 3 Yard Recycle Bin 1x/wk \$76.27 + (1) Organics Cart 1x/wk \$24.86 + AB939 for 3 units \$0.90 = \$ 280.14

**Multi-Family Trash**

DISMOUNT Service Quantity - Size	Frequency of Pickup Per Week					
	1	2	3	4	5	6
1 - 1.5 Yard	\$ 150.18	\$ 300.39	\$ 450.56	\$ 600.76	\$ 750.91	\$ 901.10
2 - 1.5 Yard	\$ 273.11	\$ 546.21	\$ 819.31	\$ 1,092.40	\$ 1,365.48	\$ 1,638.58
3 - 1.5 Yard	\$ 409.63	\$ 819.23	\$ 1,228.87	\$ 1,638.48	\$ 2,048.11	\$ 2,457.66
4 - 1.5 Yard	\$ 546.16	\$ 1,092.37	\$ 1,638.49	\$ 2,184.65	\$ 2,654.20	\$ 3,277.01
5 - 1.5 Yard	\$ 682.73	\$ 1,365.41	\$ 2,048.14	\$ 2,730.85	\$ 3,413.58	\$ 4,096.31
1 - 3 Yard	\$ 179.01	\$ 325.93	\$ 518.58	\$ 691.29	\$ 864.33	\$ 1,037.13
2 - 3 Yard	\$ 314.61	\$ 651.74	\$ 943.69	\$ 1,258.30	\$ 1,572.84	\$ 1,887.44
3 - 3 Yard	\$ 456.24	\$ 977.03	\$ 1,368.74	\$ 1,825.00	\$ 2,281.25	\$ 2,737.52
4 - 3 Yard	\$ 597.92	\$ 1,303.60	\$ 1,793.80	\$ 2,391.74	\$ 2,989.70	\$ 3,587.57
5 - 3 Yard	\$ 739.69	\$ 1,629.53	\$ 2,218.92	\$ 2,958.61	\$ 3,698.22	\$ 4,437.87
1 - 6 Yard	\$ 325.61	\$ 651.26	\$ 976.81	\$ 1,302.40	\$ 1,627.97	\$ 1,953.60

**Multi-Family Recycling**

DISMOUNT Service Quantity - Size	Frequency of Pickup Per Week					
	1	2	3	4	5	6
1 - 1.5 Yard	\$ 57.43	\$ 114.86	\$ 172.29	\$ 229.73	\$ 287.15	\$ 344.61
2 - 1.5 Yard	\$ 114.86	\$ 229.73	\$ 344.61	\$ 459.47	\$ 574.33	\$ 689.20
3 - 1.5 Yard	\$ 172.29	\$ 344.61	\$ 516.90	\$ 689.20	\$ 861.49	\$ 1,033.79
4 - 1.5 Yard	\$ 229.73	\$ 459.47	\$ 689.20	\$ 918.93	\$ 1,148.66	\$ 1,378.39
5 - 1.5 Yard	\$ 287.15	\$ 574.33	\$ 861.49	\$ 1,148.66	\$ 1,435.83	\$ 1,723.01
1 - 3 Yard	\$ 76.27	\$ 152.54	\$ 228.82	\$ 305.09	\$ 381.36	\$ 457.64
2 - 3 Yard	\$ 152.54	\$ 305.09	\$ 457.64	\$ 610.17	\$ 762.72	\$ 915.26
3 - 3 Yard	\$ 228.82	\$ 457.64	\$ 686.44	\$ 915.26	\$ 1,144.08	\$ 1,372.89
4 - 3 Yard	\$ 305.09	\$ 610.17	\$ 915.26	\$ 1,220.35	\$ 1,525.44	\$ 1,830.51
5 - 3 Yard	\$ 381.36	\$ 762.72	\$ 1,144.08	\$ 1,525.44	\$ 1,906.79	\$ 2,288.15

**Multi-Family Split Bin - Trash/Recycling**

DISMOUNT Service Quantity - Size	Frequency of Pickup Per Week					
	1	2	3	4	5	6
1 - 2 Yard	\$ 197.78	\$ 395.57	\$ 593.35	\$ 791.14	\$ 988.90	\$ 1,186.69
2 - 2 Yard	\$ 368.30	\$ 736.60	\$ 1,104.90	\$ 1,473.18	\$ 1,841.45	\$ 2,209.75
3 - 2 Yard	\$ 552.42	\$ 1,104.81	\$ 1,657.25	\$ 2,209.66	\$ 2,762.07	\$ 3,314.41
4 - 2 Yard	\$ 736.54	\$ 1,473.15	\$ 2,209.67	\$ 2,946.21	\$ 3,606.15	\$ 4,419.35
5 - 2 Yard	\$ 920.73	\$ 1,841.39	\$ 2,762.12	\$ 3,682.79	\$ 4,603.52	\$ 5,524.25
1 - 3 Yard	\$ 207.62	\$ 415.25	\$ 622.86	\$ 830.48	\$ 1,038.09	\$ 1,245.71
2 - 3 Yard	\$ 387.97	\$ 775.94	\$ 1,163.93	\$ 1,551.86	\$ 1,939.81	\$ 2,327.76
3 - 3 Yard	\$ 581.93	\$ 1,163.83	\$ 1,745.76	\$ 2,327.69	\$ 2,909.61	\$ 3,491.45
4 - 3 Yard	\$ 775.89	\$ 1,551.83	\$ 2,327.70	\$ 3,103.57	\$ 3,802.86	\$ 4,655.42
5 - 3 Yard	\$ 969.89	\$ 1,939.73	\$ 2,909.65	\$ 3,879.51	\$ 4,849.42	\$ 5,819.32
1 - 6 Yard	\$ 255.29	\$ 478.48	\$ 747.40	\$ 996.37	\$ 1,245.68	\$ 1,494.76
2 - 6 Yard	\$ 467.16	\$ 956.83	\$ 1,401.31	\$ 1,868.47	\$ 2,335.55	\$ 2,802.69
3 - 6 Yard	\$ 685.07	\$ 1,434.66	\$ 2,055.19	\$ 2,740.26	\$ 3,425.33	\$ 4,110.40
4 - 6 Yard	\$ 903.01	\$ 1,913.76	\$ 2,709.06	\$ 3,612.10	\$ 4,515.15	\$ 5,418.09
5 - 6 Yard	\$ 1,121.06	\$ 2,392.25	\$ 3,363.00	\$ 4,484.04	\$ 5,605.03	\$ 6,726.01

**Multi-Family Organics Cart - DISMOUNT**

96gal, 1x/wk	\$ 24.86
2 - 96gal, 1x/wk	\$ 49.73
3 - 96gal, 1x/wk	\$ 74.59
4 - 96gal, 1x/wk	\$ 99.46
5 - 96gal, 1x/wk	\$ 124.33

Required: Customers must have trash, recycling and organics service.  
 Example at Stage service level: (1) 3 Yard Trash Bin 1x/wk \$186.98 + (1) 3 Yard Recycle Bin 1x/wk \$83. + (1) Organics Cart 1x/wk \$29.94 + AB939 for 3 units \$0.90 = \$ 299.92

**Multi-Family Trash**

STAGE Service	Frequency of Pickup Per Week					
Quantity - Size	1	2	3	4	5	6
1 - 1.5 Yard	\$ 164.33	\$ 328.72	\$ 493.03	\$ 657.37	\$ 821.73	\$ 986.08
2 - 1.5 Yard	\$ 298.87	\$ 597.73	\$ 896.59	\$1,195.39	\$1,494.25	\$1,793.11
3 - 1.5 Yard	\$ 448.31	\$ 896.60	\$1,344.86	\$1,793.13	\$2,241.43	\$2,689.70
4 - 1.5 Yard	\$ 597.74	\$1,195.41	\$1,793.17	\$2,390.87	\$2,988.64	\$3,586.34
5 - 1.5 Yard	\$ 747.14	\$1,494.26	\$2,241.39	\$2,988.57	\$3,735.71	\$4,482.84
1 - 3 Yard	\$ 186.98	\$ 354.24	\$ 561.12	\$ 748.16	\$ 935.18	\$1,122.22
2 - 3 Yard	\$ 345.26	\$ 708.49	\$1,037.13	\$1,382.86	\$1,728.60	\$2,074.32
3 - 3 Yard	\$ 504.45	\$1,062.70	\$1,513.31	\$2,017.74	\$2,522.17	\$3,026.58
4 - 3 Yard	\$ 663.14	\$1,416.95	\$1,989.48	\$2,652.67	\$3,315.86	\$3,979.02
5 - 3 Yard	\$ 821.81	\$1,771.19	\$2,465.49	\$3,287.30	\$4,109.16	\$4,930.98
1 - 6 Yard	\$ 353.47	\$ 707.05	\$1,060.42	\$1,413.88	\$1,767.33	\$2,120.84

**Multi-Family Recycling**

STAGE Service	Frequency of Pickup Per Week					
Quantity - Size	1	2	3	4	5	6
1 - 1.5 Yard	\$ 62.51	\$ 125.02	\$ 187.55	\$ 250.08	\$ 312.58	\$ 375.09
2 - 1.5 Yard	\$ 125.02	\$ 250.08	\$ 375.09	\$ 500.13	\$ 625.17	\$ 750.19
3 - 1.5 Yard	\$ 187.55	\$ 375.09	\$ 562.65	\$ 750.19	\$ 937.75	\$1,125.28
4 - 1.5 Yard	\$ 250.08	\$ 500.13	\$ 750.19	\$1,000.25	\$1,250.32	\$1,500.38
5 - 1.5 Yard	\$ 312.58	\$ 625.17	\$ 937.75	\$1,250.32	\$1,562.90	\$1,875.46
1 - 3 Yard	\$ 83.00	\$ 166.05	\$ 249.04	\$ 332.09	\$ 415.10	\$ 498.13
2 - 3 Yard	\$ 166.05	\$ 332.09	\$ 498.13	\$ 664.19	\$ 830.22	\$ 996.26
3 - 3 Yard	\$ 249.04	\$ 498.13	\$ 747.19	\$ 996.26	\$1,245.33	\$1,494.39
4 - 3 Yard	\$ 332.09	\$ 664.19	\$ 996.26	\$1,328.34	\$1,660.43	\$1,992.50
5 - 3 Yard	\$ 415.10	\$ 830.22	\$1,245.33	\$1,660.43	\$2,075.54	\$2,490.64

**Multi-Family Split Bin - Trash/Recycling**

STAGE Service	Frequency of Pickup Per Week					
Quantity - Size	1	2	3	4	5	6
1 - 2 Yard	\$ 217.00	\$ 434.07	\$ 651.09	\$ 868.11	\$1,085.14	\$1,302.14
2 - 2 Yard	\$ 404.22	\$ 808.46	\$1,212.65	\$1,616.84	\$2,021.05	\$2,425.29
3 - 2 Yard	\$ 606.36	\$1,212.66	\$1,818.99	\$2,425.31	\$3,031.64	\$3,637.95
4 - 2 Yard	\$ 808.48	\$1,616.86	\$2,425.34	\$3,233.74	\$4,042.24	\$4,850.65
5 - 2 Yard	\$1,010.55	\$2,021.06	\$3,031.60	\$4,042.19	\$5,052.72	\$6,063.25
1 - 3 Yard	\$ 226.84	\$ 453.75	\$ 680.59	\$ 907.46	\$1,134.33	\$1,361.16
2 - 3 Yard	\$ 423.90	\$ 847.82	\$1,271.67	\$1,695.52	\$2,119.40	\$2,543.31
3 - 3 Yard	\$ 635.86	\$1,271.69	\$1,907.51	\$2,543.33	\$3,179.18	\$3,814.98
4 - 3 Yard	\$ 847.83	\$1,695.54	\$2,543.37	\$3,391.12	\$4,238.95	\$5,086.71
5 - 3 Yard	\$1,059.73	\$2,119.41	\$3,179.12	\$4,238.89	\$5,298.62	\$6,358.31
1 - 6 Yard	\$ 270.01	\$ 520.29	\$ 810.18	\$1,080.25	\$1,350.29	\$1,620.34
2 - 6 Yard	\$ 511.31	\$1,040.58	\$1,535.25	\$2,047.02	\$2,558.81	\$3,070.58
3 - 6 Yard	\$ 753.50	\$1,560.83	\$2,260.48	\$3,014.00	\$3,767.48	\$4,520.98
4 - 6 Yard	\$ 995.24	\$2,081.15	\$2,985.74	\$3,981.02	\$4,976.29	\$5,971.51
5 - 6 Yard	\$1,236.90	\$2,601.41	\$3,710.81	\$4,947.74	\$6,184.69	\$7,421.62

**Multi-Family Organics Cart - STAGE**

96gal, 1x/wk	\$ 29.94
2 - 96gal, 1x/wk	\$ 59.89
3 - 96gal, 1x/wk	\$ 89.84
4 - 96gal, 1x/wk	\$ 119.79
5 - 96gal, 1x/wk	\$ 149.75

<b>Multi-Family Organics Bin- STAB</b>	
2-Yard 1x/wk	\$ 175.00
2 - Yard 2x/wk	\$ 332.50

<b>Multi-Family Organics Bin - DISMOUNT</b>	
2-Yard 1x/wk	\$ 219.28
2 - Yard 2x/wk	\$ 415.63

<b>Multi-Family Organics Bin - STAGE</b>	
2-Yard 1x/wk	\$ 275.15
2 - Yard 2x/wk	\$ 521.78

<b>Multi-Family Other Fees</b>	
1.5 Yard Extra PU	\$ 78.33
3 Yard Extra PU	\$ 101.94
6 Yard Split Bin Extra PU	\$ 161.06
Contamination	\$ 68.79
Reactivation/Cut-Off	\$ 50.76
Locking Lid	\$ 16.40
Overage	\$ 68.79